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(1) BJT��������	
� IB=0.1 mA� IC=8.0 mA
� � IB � � 50 µA��IC

� � 10 mA��� � BJT�βac��(7%)  

(A) 100 (B) 200 (C) 80 (D) 160 
 

(2) � � � � BJT����� IE=15 mA�IC=14.95 mA�� β �� � �� �(10%) 

 
(3) ! " � � # $ % & ' BJT����( � ) * + , - . / �0 �1 2 3 � 4 % �0 5
) * 6 7 8 9 � 

(A) : ; (B) �	<  (C) = >  (D) ? @ A B  (5%) 

 
(4) C DE 6 F% �= G �H I �J F% �2 K L (M H N O )�6 + P Q ��/ � �

(8%) 
  
 
 
 

(5) �R S DT�H I 6 V0; U�V(a)W(b)X YZ [ \ ] ^ _ " ] ^ ` @ 
 (10%) 

(6) ! " � � BJT a b c �H �DE d � �H 7 8 e P $ % f H �g h i * ,  (7%) 
(A) BJT j % k 0 l Y6 m n o (B) �/ ) p q r ) *  
(C) BJT $ % s 0 �/ 6 P t o (D) ? @ A u  

 
(7) ! " � � v w x y � pnp���# 4 % a b c �H ���/ ) p � � (7%) 

(A) b z 0.9  (B) { " -0.95|-0.99�}  (C) { " 0.95| 0.99�}  (D) b z -0.9 
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(8) DE � � � � � VS=40 mV�Rsense=0.5 kΩ�+ , �0 Ii = 20 µA�+ , � � =�(7%) 

 
(9) y � DE �H ��/ ) p (� x r0 = ∞)�(7%)  

(10) � @ X �+ , � � ��(8%) 

  
(11) ! � � n L � JFET�� IDSS=8 mA�VP= -6 V
� � VGS= -2 V��� % �0 ID�

 �(7%)  

(A) 3.55 (B) 5.33 (C) 3.9 (D) 2.67 (mA) 
 

(12) � � � � a b c �� � + , # � l Y 10 V�� � + P �/ 10 Vo� � + , � � l
Y 2 mV�� � + P �/ 10 V��� � � � a b c 6 CMRR��(7%)  

(A) 1000:1 (B) 5,000,000:1 (C) 5:1 (D) 5000:1 
 

(13) DE � � a b c �H �+ , �/ Vi�0.25 V�� � 6 + P �/ �2.75 V��� Rf =�

(10%) 
 


